Svenska Bridgeférbundet
SM-par Open, B-final, omgang 4-5

Partavling, 42 bord, 84 par. Antal brickor: 96. Medel: 3938.3.

Plac Par
1 56
2 5
3 53
4 52
5 3
6 38
7 59
8 65
9 74

10 80
11 83
12 47
13 37
14 32
15 50
16 30
17 77
18 67
19 58
20 31
21 33
22 48
23 68
24 72
25 45
26 64
27 24
28 42
29 35
30 66
31 4

32 51
33 29
34 82
35 25
36 15
37 9

38 62
39 17
40 84
41 10
42 43
43 57
44 26
45 6

46 27
47 22
48 46
49 40
50 20
51 23
52 81
53 16
54 18
55 60
56 41
57 2

58 36
59 69
60 1

61 11
62 8

63 73
64 7

65 21
66 28
67 75
68 12
69 34
70 76
71 55
72 44
73 71
74 19
75 14
76 79
77 63
78 54
79 78
80 70
81 61
82 39
83 13
84 49

Poang

4743.5
4612.1
4609.8
4542.9
4530.8
4494.2
4461.2
4444.6
4414.2
4357.8
4307.4
4286.4
4273.9
4259.5
4241.5
4229.5
4199.9
4195.9
4180.9
4170.0
4115.9
4103.1
4102.1
4096.6
4060.1
4052.6
4038.7
4029.7
4021.6
4015.1
4014.6
4013.3
4012.3
3996.0
3993.4
3989.6
3989.4
3974.7
3974.0
3960.4
3959.1
3954.5
3948.6
3937.2
3922.7
3912.5
3894.5
3888.6
3888.2
3873.8
3865.3
3860.0
3832.9
3827.8
3817.1
3805.9
3805.4
3796.6
3788.6
3778.2
3769.7
3767.1
3762.9
3751.9
3710.3
3677.6
3659.3
3656.4
3634.1
3630.8
3581.1
3569.2
3560.6
3547.2
3534.1
3503.1
3475.9
3444.2
3441.2
3418.4
3412.6
3410.1
3366.5
3062.5

%

60.26
58.59
58.56
57.71
57.56
57.09
56.67
56.46
56.07
55.36
54.72
54.45
54.29
54.11
53.88
53.73
53.35
53.30
53.11
52.97
52.29
52.12
52.11
52.04
51.58
51.48
51.30
51.19
51.09
51.00
51.00
50.98
50.97
50.76
50.73
50.68
50.68
50.49
50.48
50.31
50.29
50.24
50.16
50.02
49.83
49.70
49.47
49.40
49.39
49.21
49.10
49.03
48.69
48.63
48.49
48.35
48.34
48.23
48.13
48.00
47.89
47.85
47.80
47.66
47.13
46.72
46.49
46.45
46.16
46.12
45.49
45.34
45.23
45.06
44.90
44.50
44.15
43.75
43.71
43.42
43.35
43.32
42.77
38.90

Namn

Johan Groénkvist - Thomas Brehmer
Per Clarin - Torbjoérn Gustavsson
Douglas von Krusenstierna - Goéran Forss
Perry Sjoberg - Bengt Palsson

Peter Backlund - Mari Lindblom
Per-Ingvar Skoglund - Vera Gemrud
Staffan Hed - Tommy Andersson
Peter Johansson - Lars Kjellersson
Thord Lindberg - Peter Townsend
Mats Sjoberg - Torbjorn Axelsson
Peter Olofsson - Bjorn Ohlsson

Daniel Gullberg - Johan Karlsson
Jorgen Neldemo - Jan-Erik Helmersson
Jens Brodin - Lennart Rehle

Fredrik Mirhag - Tommy Petersson
Goran Hestner - Tommy Linder
Gunnar Andersson - Per-Olov Térnqvist
Mats Allgéwer - Thomas Therkelson
Dan Johansson - Gull-Inger Johansson
Thor Simonsen - Lars-Goran Larsson
Jan Fransson - Anders Norin

Johan Lundvall - Pekka Idman

Lars Marjoniemi - Peter Forsberg
Roland Myrvold - Lennart Karlsson
Tommy Gunnarsson - Michael Lemborn
Ylva Karlsson-Uisk - Ahto Uisk

Lars Jeppsson - Géran Eklund

Lars Ohlman - Bierne Ekbrant

Kent Maltein - Erik Gulliksson

Dan Nordberg - Ruth Lofstedt

Tomas Truedsson - Bo Andersson
Bengt Svedrell - Torsten Eriksson
Ricky Johansson - Bo Lantz

Sonny Arvidsson - Tord Nilsson

Kent Karlsson - Conny Svensson

Pia Rydberg Olofsson - Krister Olsson
Anette Svenningsson - Anders Nero
Jimmy Johansson - Lennart Johansson
Sven-Olof Gardman - Géran Wreiber
Eva Gunnarsson - Peter Modh

Bernt Linnér - Bertil Arvidsson

Mikael Fahlander - Peter Huotila
Jerry EKI6f - Mats Wang

Joakim Holmberg - Tore Bergsten
Kjell Lindgren - Anders Lévling

Jaan Heinlo - Jan Geiborg

Robert Frank - Jérgen Wallmon

Billy Gustafsson - Christer Fridell
Berth Andberg - Ove Johansson

Dag Josefsson - Jan Holm

Tage Dynefors - Agnete Friestedt
Kent Rudberg - Heikki Seppénen
Niklas Andrén - Kjell Hakansson

Hans Molin - Bjérn Sjoberg

Kjell Berg - Kent Larsson

Thore Sdderlund - Benny Appelgvist
Roger Ahlbom - Roger Sjoblom

Ylva Johansson - Kjell Staffas

Goran Mattsson - Allan Magnusson
Péther Ekman - Goran Sjolin

Arne Eriksson - Sigvard Holmstrém
Jan-Erik Jonsson - Erik Sandhagen
Rune Johansson - Géran Magnusson
Gosta Nordenson - Britt Nordenson
Sune Sundholm - Arne Johansson
Torbjérn Forsén - Dag Johansson
Tommy Lindgvist - Svante Oman
Mats Gunnarsson - Lars-Bertil Andersson
Reine Gustavsson - Lars Ahlén

Jan Ahlqvist - Jan Konar

Ola Ekman - Doris Ekman

Johan Johansson - Leif Lyngmo
Birgitta Isacson - Kenneth Gadd
Anna Bergek - Christian Bergek
Anders Norberg - Bo Norberg

Hans Jakobsson - Claes-Hugo Larsson
Kerstin Becker - Margareta Eldh

UIf Ohlund - Christoffer Jarnestrom
Jan Hoérnlund - Mikael Sundahl
Lennart Wiklander - Peter Martensson
Sture Mattsson - Rolf Larsson

Anders Nilsson - Leif Eskelid

Jan Sjostrom - Michael Carlsson
Else-Britt Lindblom - Tony Lindblom

MID
8342 4133
10538 1255
8636 809
5775 6272
244 996
2734 23764
19816 14659
245 1163
5302 27305
1198 233
5771 5648
37167 32229
18660 4243
84125 6599
15818 12924
92606 13938
1852 1862
8386 4805
11809 9877
30021 6849
12537 8191
2903 20528
14508 51490
79001 1196
10295 1215
2802 2801
449 5652
11919 11202
15967 24169
796 542
6380 5896
89485 493
14425 4342
1349 4733
4155 7638
599 7065
10269 9470
81411 20178
261 13638
12598 1605
6812 605
13534 4317
87220 10100
14130 81338
16259 18166
2171 12165
25150 15095
1447 1329
1331 1453

51 45
7556 13159
3220 3215
1623 3733
20432 16867
13142 7660
5233 5231
11528 13305
11744 34308
6183 7863
18296 50060
12242 850
10808 10016
89674 1123
11392 6782
11888 8768
88512 88495
8248 80070
9495 10687
6934 6914
10458 9717
9551 11686
83995 85153
87270 7511
92648 92649
19095 3412
4844 18560
7649 8143
1403 1977
12439 18410
17072 20373
1503 1172
19850 23113
15278 88532
12362 21037

Klubb

Orebridgen

BK S:t Erik
Norrkopingsbridgen
Malmé BK - LUCK
BK S:t Erik

BK Falkenberg
Filbyter Bridge
Borlange BK
Boden-Séavast BS
Filbyter Bridge
Solvesborgs BK

BK S:t Erik - Hallefors BK
Veddige BS

Géavle BK

BK S:t Eskil
Sorsele BK

Skoévde BA
MélInlycke BS
Karlshamns BK
Uddevalla BF
Gavle BK

Filbyter Bridge - LUCK
Hallstahammars BK
Filbyter Bridge

Salamandern/Wasa - Karlstads BK

BK Fyris

Ystads BS

Overums BK

Géavle BK

Borlange BK
Kullabygdens BK
Ystads BS

Boras BA - Ulricehamns BS
Borléange BK

Askers. BK Singelton
Karlshamns BK
Vaggeryds BK - Majstangens BK
Askers. BK Singelton
Folkare BK

Bohus Nations BS

Vaxjo BK

BK Svanslos

Overums BK

Ljungskile BK
Enkopings BS

Gnesta BK

Majstangens BK
Nykopings BS
Nykopings BS
Hedemora BS

Tanums BK
Sodderhamns BS

Ystads BS

Sydjamten

Tjorns BK

Havdhems BK

Bergsjo BK - Gnarps BK
Enkopings BS
Storsjobygdens BK - Sydjamten
BK Fyris - Upsala BS
Boras BA - Oskarshamns BK
Fréso BK

Vaxjo BK
Norrkopingsbridgen
Gnesta BK

Kisa BS

Harné BS

Atrans BK

Majstangens BK

BK Lyx

Skellefted BK

Motala Bridgeallians
Tjorns BK

Motala Bridgeallians
Harno BS

Partille BK

Mariestads BS - Skdvde BA
Vasterviks BK

LUCK

BK Tva Ess - BK S:t Erik
Ljungsbro BK

BK Falkenberg
Oskarshamns BK

Kisa BS
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59 « K1064 60 442 61 #1082
Syd v 96 Vast v 1042 Nord vED1093
Ingen + KKn65 NS + EK985 Alla ¢+ EDKn3
#976 #KD10 &9
a75 & DKn9 « KKn1063 #«ED87 «KD76 4 EKn53
vE8732 vKD5 v 87 v KKn6 v 87 v K65
¢ 102 ¢+ ED43 ¢ Kn63 *4 + K1082 +¢65
#K1053 &EDS8 #632 #EKN974 *K75 #D863
« E832 495 494
vKn104 v ED953 v Kn42
¢ 987 ¢+ D1072 ¢ 974
#Kn42 #85 #EKN1042
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
2 58 4v O+1 +8 -450 59.0 23.0| 3 57 3vyDS+1 46 930 820 00|66 79 3vyDN= 6 730 82.0 0.0
3 57 4v V+1 46 -450 59.0 23.0|19 41 4v S= ] 620 79.0 30| 5 57 34 0-2 +4 200 740 8.0
4 56 4v O +1 +9 -450 59.0 23.0|27 33 4v S= 3 620 79.0 3.0(|24 38 34 O-2 v4 200 740 8.0
5 55 4v V+1 +6 -450 59.0 23.0|26 34 44DV-2 v4 300 76.0 6.0|30 32 34 O-2 v2 200 740 8.0
9 51 4v O +1 +8 -450 59.0 23.0(20 40 3v S+1 *6 170 72.0 10.0 (44 18 34 O-2 v2 200 740 8.0
20 40 4v O+1 *2 -450 59.0 23.0(32 28 3¢ N+3 2 170 72.0 10.0|53 9 44 O-2 v2 200 740 8.0
21 39 4v O+1 s A -450 59.0 23.0(62 81 2v S+2 *3 170 72.0 10.0|65 80 34 O-2 v2 200 740 8.0
23 37 4v O+1 vT -450 59.0 230|54 6 3vS= 43 140 68.0 14.083 62 34 O-2 v2 200 740 8.0
26 34 4v O+1 vT -450 59.0 23.0| 9 51 4¢ N= aA 130 64.0 18.0|33 29 2v N+2 6 170 66.0 16.0
32 28 4v O +1 v4 -450 59.0 23.0|50 10 3¢ N+1 s A 130 64.0 18.0| 1 61 2v N+1 6 140 58.0 24.0
35 25 4v O +1 +9 -450 59.0 23.0|65 78 4¢ N= *4 130 64.0 18.0| 2 60 2v N +1 s A 140 58.0 24.0
38 22 4v O +1 s A -450 59.0 23.0| 2 58 44DV-1 *+K 100 58.0 24.0| 4 58 3v N= *4 140 58.0 24.0
43 17 4v O+1 vJ] -450 59.0 23.0| 5 55 44 V-2 *A 100 58.0 24.0|21 41 2v N+1 +5 140 58.0 24.0
44 16 4v V +1 *6 -450 59.0 23.0|72 71 44DV-1 *A 100 58.0 24.0|55 7 2v N+1 +6 140 58.0 24.0
45 15 4v O +1 v3 -450 59.0 23.0|18 42 4e V-1 *A 50 46.0 36.0|76 69 2v N+1 v5 140 58.0 24.0
49 11 4v O+1 +8 -450 59.0 23.0(38 22 44 O-1 *A 50 46.0 36.0|84 31 2v N+1 *6 140 58.0 24.0
54 6 4v V+1 a4 -450 59.0 23.0|48 12 3v V-1 v2 50 46.0 36.0|15 47 2v N= v5 110 43.0 39.0
62 81 4v O +1 a4 -450 59.0 23.0(49 11 34 V-1 +K 50 46.0 36.0(27 35 2v N= *6 110 43.0 39.0
65 78 4v O +1 *6 -450 59.0 23.0|52 8 44 O-1 »8 50 46.0 36.0|36 26 2v N= s A 110 43.0 39.0
72 71 4y V+1 46 -450 59.0 23.0|73 70 34 V-1 + K 50 46.0 36.0|37 25 2v N= +6 110 43.0 39.0
77 66 4v O +1 vJ -450 59.0 23.0|75 68 4e V-1 *A 50 46.0 36.0|39 23 2v N= 3 110 43.0 39.0
80 63 4v V+1 v9 -450 59.0 23.0|82 61 3#0-1 49 50 46.0 36.0|51 11 2v N= 6 110 43.0 39.0
82 61 4v V+1 v9 -450 59.0 23.0(83 60 3v V-1 + K 50 46.0 36.0|70 75 2v N= v5 110 43.0 39.0
83 60 4v V+1 46 -450 59.0 23.0|14 46 3¢ N-1 *4 -100 35.0 47.0|74 71 2v N= *6 110 43.0 39.0
1 59 3NO+2 a2 -460 17.0 65.0|69 74 4¢ N-1 s A -100 35.0 47.0| 3 59 34 O-1 v2 100 28.0 54.0
7 53 3N O +2 a2 -460 17.0 65.0| 1 59 34 V= *A -140 17.0 65.0| 8 54 34 O-1 v2 100 28.0 54.0
13 47 3N O +2 +8 -460 17.0 65.0| 7 53 34 V= *A -140 17.0 65.0|14 48 34 O-1 vJ 100 28.0 54.0
14 46 3N O +2 a2 -460 17.0 65.0 (13 47 24 V +1 + K -140 17.0 65.0|20 42 34 O-1 v2 100 28.0 54.0
18 42 3N O +2 v] -460 17.0 65.0|21 39 34 V= + K -140 17.0 65.0(28 34 34 O-1 v2 100 28.0 54.0
19 41 3N O+2 vJ -460 17.0 65.0|23 37 34 V= *+K -140 17.0 65.0|49 13 34 O-1 a4 100 28.0 54.0
27 33 3NO +2 43 -460 17.0 65.0|29 31 34 V= *A -140 17.0 65.0|63 82 34 O-1 vJ] 100 28.0 54.0
29 31 3NO+2 a2 -460 17.0 65.0|35 25 24 V+1 + K -140 17.0 65.0(50 12 3v N-1 +6 -100 20.0 62.0
36 24 3N O +2 43 -460 17.0 65.0|36 24 34 V= *A -140 17.0 65.0|10 52 24 O= v2 -110 16.0 66.0
48 12 3N O +2 +9 -460 17.0 65.0|43 17 34 V= *A -140 17.0 65.0(22 40 24 O= v3 -110 16.0 66.0
50 10 3N O +2 +8 -460 17.0 65.0|44 16 34 V= v2 -140 17.0 65.0(81 64 24 O= v2 -110 16.0 66.0
52 8 3NO+2 43 -460 17.0 65.0|45 15 34 O= v3 -140 170 65.0| 6 56 34 O= v2 -140 11.0 71.0
64 79 3NO +2 a2 -460 17.0 65.0|64 79 34 V= *A -140 17.0 65.0(19 43 24 V+1 *9 -140 110 71.0
69 74 3N O +2 43 -460 17.0 65.0|76 67 34 V= *A -140 17.0 65.0|45 17 3v N-2 v3 -200 4.0 78.0
73 70 3N O +2 a2 -460 17.0 65.0|77 66 34 V= *A -140 17.0 65.0|46 16 4v N-2 +6 -200 4.0 78.0
75 68 3N O +2 vJ] -460 17.0 65.0|80 63 34 O= *7 -140 17.0 65.0|73 72 3v N-2 *6 -200 4.0 78.0
76 67 3N O +2 +9 -460 17.0 65.0|84 30 24 V+1 &K -140 17.0 65.0|77 68 4v N-2 +6 -200 4.0 78.0
84 30 3NO+2 7 -460 170 65.0| 4 56 5¢DN-2 &A -500 0.0 82.0(78 67 3v N-2 *6 -200 4.0 78.0
62 & Kn732 63 442 64 « D954
Ost v EKDKn Syd v Kn87632 Vast v 32
Ingen ¢ Kn843 NS ¢ Kn107 ov ¢ E8743
&Kn £98 £104
41065 #4ED4 «E76 & KKn9 4 E82 &« K76
v764  v1083 vE5 v K9 v10864 v EKKNn975
+1062 D5 ¢ EK65 + D9843 ¢ DKn5 ¢ 106
#KD96 #E10853 #Kn1064 #E53 #ED2  #83
» K98 «D10853 4« Kn103
v 952 vD104 vD
¢ EK97 2 ¢ K92
742 &KD72 &#KKn9765
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
22 40 34D O-3 &2 500 820 00| 1 63 3NV+1 v6 -430 710 11.0|77 70 6v O-2 ] 200 82.0 0.0
19 43 34D 0O -2 &7 300 80.0 20| 2 62 3NV+1 v6 -430 71.0 11.0|15 49 2v O +2 ] -170 78.0 4.0
28 34 3v N+1 v2 170 780 4.0(20 44 3NV +1 v6 -430 71.0 11.0|16 48 3v V+1 s -170 78.0 4.0
8 54 INS+2 &K 150 69.0 13.0(23 41 3NV +1 v8 -430 71.0 11.0|31 33 3v O+1 ] -170 78.0 4.0
20 42 3¢ N+2 +5 150 69.0 13.0(25 39 3NV +1 v3 -430 71.0 11.0(5 8 3v V+2 &T -200 74.0 8.0
21 41 3¢ S+2 *Q 150 69.0 13.0|45 19 4NO= a4 -430 710 110| 2 62 4v O= oT -620 50.0 32.0
33 29 2¢ N+3 v3 150 69.0 13.0(46 18 3NV +1 v6 -430 710 11.0| 3 61 4v O= ] -620 50.0 32.0
37 25 2¢ N+3 v8 150 69.0 13.0(51 13 3NV +1 v7 -430 71.0 11.0| 4 60 4v O= aJ -620 50.0 32.0
44 18 3% O-3 * K 150 69.0 13.0(52 12 3NV +1 v3 -430 710 110| 5 59 4v O= s -620 50.0 32.0
65 80 INS+2 v7 150 69.0 13.0(56 8 3NV +1 v3 -430 710 11.0| 6 58 4y O= ] -620 50.0 32.0
77 68 2¢ S+3 &K 150 69.0 13.0(75 72 3NV +1 v8 -430 71.0 11.0| 7 57 4v O= ] -620 50.0 32.0
3 59 24 S+1 &K 140 58.0 24.0(78 69 3NV +1 v7 -430 71.0 11.0|11 53 4v O= s -620 50.0 32.0
50 12 2v N+1 +Q 140 58.0 24.0| 3 61 3NV +2 a4 -460 40.0 42.0(25 39 4v O= ] -620 50.0 32.0
51 11 24 N+1 *2 140 58.0 24.0| 4 60 3NV +2 +J -460 40.0 42.0|28 36 4v V= a4 -620 50.0 32.0
2 60 3¢ S+1 &K 130 43.0 39.0| 5 59 3NV +2 *J -460 40.0 42.0|29 35 4v O= s -620 50.0 32.0
10 52 1e¢ S+3 &K 130 43.0 39.0|11 53 3NV +2 v3 -460 40.0 42.0(34 30 4v O= ] -620 50.0 32.0
15 47 24 S+2 &K 130 43.0 39.0|15 49 3NV +2 v6 -460 40.0 42.0|37 27 4v O= ] -620 50.0 32.0
24 38 2¢ S+2 &K 130 43.0 39.0|21 43 3NV +2 v6 -460 40.0 42.0|38 26 4v V= *A -620 50.0 32.0
27 35 2¢ S+2 2 130 43.0 39.0|22 42 3NV +2 *9 -460 40.0 42.0|40 24 4v O= ] -620 50.0 32.0
39 23 1¢ S+3 *Q 130 43.0 39.0|28 36 3NV +2 v6 -460 40.0 42.0(45 19 4v O= a5 -620 50.0 32.0
46 16 3¢ N+1 &A 130 43.0 39.0|31 33 3NV +2 *J -460 40.0 42.0|46 18 4y O= oT -620 50.0 32.0
53 9 3¢ S+1 &K 130 43.0 39.0|37 27 3NV +2 v6 -460 40.0 42.0|50 14 4v O= oT -620 50.0 32.0
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66 79 3¢ S+1 &K 130 43.0 39.0|40 24 3NV +2 v6 -460 40.0 42.0(51 13 4v O= 4] -620 50.0 32.0
74 71 3¢ N+1 *A 130 43.0 39.0|50 14 3NV +2 *T -460 40.0 42.0|52 12 4v O= &) -620 50.0 32.0
81 64 3¢ N+1 *A 130 43.0 39.0|66 81 3NV +2 +J -460 40.0 42.0|64 83 4v V= 4] -620 50.0 32.0
84 31 2¢ S+2 &K 130 43.0 39.0|67 80 3NV +2 v7 -460 40.0 42.0(66 81 4v O= 4] -620 50.0 32.0
70 75 INS+1 *9 120 30.0 52.0(74 73 3NV +2 a4 -460 40.0 42.0(67 80 4v O= &) -620 50.0 32.0
76 69 34 0O -2 ¢A 100 28.0 54.0|77 70 3N O +2 v4 -460 40.0 42.0|82 65 4v O= I} -620 50.0 32.0
161 INS= *6 90 19.0 63.0(79 68 3NV +2 a4 -460 40.0 420| 1 63 4v V+1 &T -650 13.0 69.0
4 58 INS= *6 90 19.0 63.0(82 65 3NV +2 v8 -460 40.0 42.0| 9 55 4v V+1 &T -650 13.0 69.0
5 57 INN= «5 90 19.0 63.0(84 32 3NV +2 a4 -460 40.0 42.0|20 44 4v O+1 &) -650 13.0 69.0
14 48 INS= &K 90 19.0 63.0( 6 58 3N O +3 43 -490 11.0 71.0(21 43 4v V+1 &T -650 13.0 69.0
45 17 INN= v3 90 19.0 63.0( 7 57 3NV +3 a4 -490 11.0 71.0(22 42 4v V+1 &T -650 13.0 69.0
49 13 INS= *6 90 19.0 63.0( 9 55 3NV +3 a4 -490 11.0 71.0(23 41 4v V+1 v2 -650 13.0 69.0
73 72 INS= &K 90 19.0 63.0(16 48 3NV +3 v3 -490 11.0 71.0(47 17 4v V+1 v3 -650 13.0 69.0
78 67 INS= &K 90 19.0 63.0({29 35 3NV +3 a4 -490 11.0 71.0(54 10 4v V+1 a4 -650 13.0 69.0
83 62 INV-1 vA 50 10.0 72.0({34 30 3NV +3 v3 -490 11.0 71.0(71 76 4v V+1 &T -650 13.0 69.0
30 32 4v N-1 *A -50 7.0 75.0|38 26 3NV +3 v7 -490 110 71.0|74 73 4v O+1 &T -650 13.0 69.0
63 82 2v N-1 v9 -50 7.0 75.0(47 17 3NO+3 »7 -490 11.0 71.0(75 72 4v V+1 v2 -650 13.0 69.0
36 26 3v N-2 *A -100 3.0 79.0(54 10 3NV +3 +J -490 11.0 71.0(78 69 4v V+1 v3 -650 13.0 69.0
55 7 INS-2 &K -100 3.0 79.0|64 83 3NV +3 v6 -490 11.0 71.0|79 68 4v O +1 I} -650 13.0 69.0
6 56 3NS-4 *6 -200 0.0 82.0(71 76 6NO= &K -990 0.0 82.0(84 32 4v V+1 &T -650 13.0 69.0
65 4« DKn 66 « D83 67 « EKD
Nord v 752 Ost v Kn1065 Syd vKn
Ingen ¢ KKn1052 NS +Kn ov ¢ E7652
#543 #ED863 #7542
4E986 4K1032 4 EKn954 & K107 4109542 483
v10863 vED4 vK v 987432 vD10963 vE4
¢+ D4 + 863 + D953 + 1087 +83 + K104
*E62 *K98 *K42 «10 «D #EKNn10963
& 754 462 4 Kn76
v KKn9 vED v K8752
¢ E97 + EK642 ¢ DKn9
#DKn107 #Kn975 *K8
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéng Par Kontr Ut Res Poang
30 36 34 O-2 *Q 100 80.0 20(47 19 3¢DV-6 vJ 1400 82.0 0.0|17 51 3¢ N= 48 110 75.0 7.0
65 1 34 0-2 *Q 100 80.0 20|80 69 4vDO-4 ¢A 800 80.0 20|24 44 3¢ N= 48 110 75.0 7.0
83 66 34 O-2 *Q 100 80.0 20|29 37 3NN+3 & K 690 780 4.0|31 37 3¢ N= 48 110 75.0 7.0
2 64 340-1 LN 50 540 28.0(52 14 44 S+3 vK 190 76.0 6.0(40 28 3¢ N= vA 110 75.0 7.0
363 240-1 *Q 50 54.0 28.0| 8 58 34 S +3 vK 170 72.0 10.0|58 10 3¢ N= 48 110 75.0 7.0
4 62 24 O-1 *Q 50 54.0 28.0(38 28 34 S +3 vK 170 72.0 10.0|68 83 3¢ N= LY 110 75.0 7.0
6 60 24 O-1 *Q 50 540 28.0(79 70 3& S +3 *2 170 72.0 10.0|73 78 3¢ N= *4 110 75.0 7.0
16 50 24 O-1 *Q 50 540 28.0| 4 62 3&S+2 & A 150 67.0 15.0(81 70 3¢ N= 48 110 75.0 7.0
17 49 34 O-1 a4 50 54.0 28.0(26 40 24 S +3 s A 150 67.0 150| 4 64 2¢ N= 43 90 65.0 17.0
21 45 INO-1 *] 50 540 280| 2 64 3&S+1 A A 130 52.0 30.0|36 32 2¢ N= a7 90 65.0 17.0
23 43 34 O-1 & 50 540 28.0| 5 61 34 S+1 aA 130 52.0 30.0| 1 67 3¢ N-1 *A -50 54.0 28.0
32 34 24 O-1 *Q 50 54.0 28.0|12 54 4& N= & K 130 52.0 30.0| 8 60 3¢ N-1 48 -50 54.0 28.0
35 31 34 0-1 *Q 50 540 28.0|16 50 4& N= a7 130 52.0 30.0|11 57 3¢ N-1 48 -50 54.0 28.0
38 28 34 O-1 *Q 50 54.0 28.0(21 45 3& N +1 &T 130 52.0 30.0|27 41 3¢ N-1 43 -50 54.0 28.0
41 25 34 O-1 LN 50 54.0 28.0|30 36 44 S-= s A 130 52.0 30.0|{30 38 3¢ N-1 LY -50 54.0 28.0
47 19 34 O-1 *Q 50 540 28.0(32 34 2& S +2 *2 130 52.0 30.0|{33 35 3¢ N-1 vA -50 54.0 28.0
48 18 34 O-1 *Q 50 54.0 28.0|41 25 44 N= a7 130 52.0 30.0|52 16 2v S-1 *Q -50 54.0 28.0
51 15 34 O-1 *Q 50 54.0 28.0(46 20 2¢ S+2 *2 130 52.0 30.0|69 82 3¢ N-1 48 -50 54.0 28.0
52 14 34 O-1 *Q 50 540 28.0(48 18 3& N +1 43 130 52.0 30.0|76 75 3¢ N-1 A -50 54.0 28.0
53 13 INO-1 *Q 50 54.0 28.0(67 82 34 S+1 vK 130 52.0 30.0| 3 65 2v S-2 *Q -100 37.0 45.0
57 9 24 O-1 *Q 50 54.0 28.0(68 81 34 S +1 *2 130 52.0 30.0| 5 63 2v S-2 *Q -100 37.0 45.0
67 82 24 O-1 *Q 50 540 28.0|76 73 3& N +1 a K 130 52.0 30.0| 7 61 2v S-2 *Q -100 37.0 45.0
68 81 24 O-1 *Q 50 54.0 28.0| 3 63 2NS= a5 120 37.0 450| 9 59 2NN -2 *] -100 37.0 45.0
75 74 24 O-1 *Q 50 540 28.0|51 15 2NS= 46 120 37.0 45.0|23 45 4¢ N-2 vA -100 37.0 45.0
76 73 24 O-1 *Q 50 540 28.0|39 27 3&S= aA 110 340 48.0(49 19 2v S-2 *Q -100 37.0 45.0
80 69 34 O-1 *Q 50 54.0 28.0(24 42 34 V-2 *J 100 31.0 51.0(79 72 2NS-2 *Q -100 37.0 45.0
26 40 Pass 30.0 52057 9 24DV-1 +J 100 31.0 51.0(80 71 2v S-2 *5 -100 37.0 45.0
78 71 INS-1 48 -50 28.0 540| 6 60 2# S= a2 90 27.0 55.0| 6 62 3NS-3 *Q -150 16.0 66.0
7 59 INO= *Q -90 25.0 57.0(65 1 2¢ S= s A 90 27.0 55.0|{13 55 3NN-3 *] -150 16.0 66.0
79 70 INO= *Q -90 25.0 57.0(78 71 24 V-1 +J 50 240 58.0|18 50 2v S-3 49 -150 16.0 66.0
5 61 24 O= *Q -110 14.0 68.0| 7 59 4¢ S-1 +3 -100 14.0 68.0|22 46 2v S-3 *6 -150 16.0 66.0
8 58 24 V= T -110 14.0 68.0|10 56 44 N-1 a7 -100 14.0 68.0|42 26 2v S-3 *Q -150 16.0 66.0
10 56 24 O= *Q -110 14.0 68.0|17 49 5& N-1 46 -100 14.0 68.0|47 21 2v S-3 *Q -150 16.0 66.0
12 54 24 O= *Q -110 14.0 68.0|22 44 54 S-1 A A -100 14.0 68.0|48 20 2v S-3 *Q -150 16.0 66.0
22 44 24 O= *Q -110 14.0 68.0|35 31 3NN-1 a7 -100 14.0 68.0|53 15 2v S-3 *Q -150 16.0 66.0
29 37 14 O+1 *Q -110 14.0 68.0|55 11 5& N-1 & K -100 14.0 68.0|54 14 2v S-3 *Q -150 16.0 66.0
39 27 24 O= a4 -110 14.0 68.0|72 77 2NN-1 a7 -100 14.0 68.0|56 12 2v S-3 *Q -150 16.0 66.0
72 77 24 O= *Q -110 14.0 68.0|83 66 3NS-1 a4 -100 14.0 68.0|66 2 3NS-3 *Q -150 16.0 66.0
84 33 24 O= Ly -110 14.0 68.0(84 33 44 S-1 *2 -100 14.0 68.0|77 74 2v S-3 *Q -150 16.0 66.0
24 42 24 V +1 *T -140 2.0 80.0(23 43 54 S-2 aA -200 2.0 80.0|84 34 2vS-3 *Q -150 16.0 66.0
46 20 24 O +1 *] -140 2.0 80.0(53 13 3¢ S-2 vK -200 2.0 80.0(39 29 24DO = +Q -180 2.0 80.0
55 11 34 O= *] -140 2.0 80.0(75 74 4v N-2 a7 -200 2.0 80.0(25 43 3vS-4 *Q -200 0.0 82.0
68 « EKD65 69 46 70 « ED5
Vast v6 Nord vE1072 Ost v E432
Alla ¢ EKn1064 NS ¢+ E874 ov + KKn6
»86 &ED87 &#Kn104
4 Kn93 43874 « D93 « EK874 4 KKNn943 472
vKKn97543 v D102 v 943 v DKn6 v108765 vD9
+5 4983 + K10 +63 ¢- 410543
«Kn4 #10952 #K10653 #Kn94 *EK7 #98632
4102 & Kn1052 41086
vE8 v K85 v KKn
¢+ KD72 ¢ DKn952 ¢ ED9872
#EKD73 »2 «D5
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
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INS = &) 2220 770 5.0 4v N = s A 620 82.0 0.0 54DO-5 ¢A 1400 82.0 0.0
INS = +5 2220 770 5.0 5¢ N= s A 600 80.0 2.0 3vyDO-4 +A 1100 78.0 4.0
INS = &J 2220 770 5.0 34DO-3 +¢Q 500 77.0 5.0 34DV -4 &J 1100 78.0 4.0
INS = a6 2220 770 5.0 34DO-3 +¢Q 500 770 5.0 44DV -4 +K 1100 78.0 4.0
INS = 49 2220 770 5.0 INS +4 43 210 740 8.0 3N S +4 v7 520 73.0 9.0
INS = +5 2220 77.0 5.0 3v N +2 aK 200 68.0 14.0 3NN +4 a7 520 73.0 9.0
7¢ N= #9 2140 63.0 19.0 34 04 +Q 200 68.0 14.0 24DV -2 +6 500 70.0 12.0
7¢ N= +3 2140 63.0 19.0 3e V-4 *2 200 68.0 14.0 3N S +3 43 490 47.0 35.0
7¢ N= v2 2140 63.0 19.0 34 04 &2 200 68.0 14.0 3NN +3 vQ 490 47.0 35.0
7¢ N= v2 2140 63.0 19.0 34 04 +Q 200 68.0 14.0 3NN +3 a7 490 47.0 35.0
7¢ N= v3 2140 63.0 19.0 3¢ N+3 &4 170 61.0 21.0 3NN +3 a7 490 47.0 35.0
7¢ N= v2 2140 63.0 19.0 3¢ N+3 s A 170 61.0 21.0 3NN +3 a7 490 47.0 35.0
7¢ N= vQ 2140 63.0 19.0 24 O-3 *2 150 41.0 41.0 3NN +3 a7 490 47.0 35.0
7¢ N= +3 2140 63.0 19.0 3¢ N+2 s A 150 41.0 41.0 3NN +3 vQ 490 47.0 35.0
6N S +1 «J 1470 48.0 34.0 24 O-3 v5 150 41.0 41.0 3NN +3 a7 490 47.0 35.0
6N S +1 49 1470 48.0 34.0 34 O-3 +Q 150 41.0 41.0 3NN +3 a5 490 47.0 35.0
6N S +1 +5 1470 48.0 34.0 3¢ N+2 aA 150 41.0 41.0 3NN +3 48 490 47.0 35.0
6N S +1 +5 1470 48.0 34.0 3¢ N+2 aA 150 41.0 41.0 3NN +3 v8 490 47.0 35.0
6N S +1 +5 1470 48.0 34.0 3¢ N +2 &K 150 41.0 41.0 3NN +3 a7 490 47.0 35.0
6N S +1 49 1470 48.0 34.0 3¢ S+2 a5 150 41.0 41.0 3NN +3 vQ 490 47.0 35.0
6N S +1 43 1470 48.0 34.0 3¢ N+2 aA 150 41.0 41.0 3NN +3 a7 490 47.0 35.0
64 N +1 v2 1460 35.0 47.0 3¢ N +2 aA 150 41.0 41.0 3NN +3 vQ 490 47.0 35.0
64 N +1 vQ 1460 35.0 47.0 4¢ N +1 aA 150 41.0 41.0 3NN +3 vQ 490 47.0 35.0
64 N +1 v5 1460 35.0 47.0 3¢ N+2 vQ 150 41.0 41.0 3NN +3 a7 490 47.0 35.0
64 N +1 v2 1460 35.0 47.0 2N S +1 46 150 41.0 41.0 3NN +3 a7 490 47.0 35.0
64 N +1 v2 1460 35.0 47.0 3¢ S+2 43 150 41.0 41.0 3NN +3 a7 490 47.0 35.0
64 N +1 v2 1460 35.0 47.0 4¢ N +1 aA 150 41.0 41.0 3NN +3 a7 490 47.0 35.0
6¢ N +1 v4 1390 22.0 60.0 4¢ N +1 oA 150 41.0 41.0 3NN +3 vQ 490 47.0 35.0
6¢ N +1 vJ 1390 22.0 60.0 3¢ N+2 oK 150 41.0 41.0 3NN +3 vQ 490 47.0 35.0
6¢ N +1 v5 1390 22.0 60.0 34 O-3 +Q 150 41.0 41.0 3NN +2 *9 460 17.0 65.0
6¢ N +1 v3 1390 22.0 60.0 3v N= s A 140 22.0 60.0 3NN +2 »8 460 17.0 65.0
6¢ N +1 v2 1390 22.0 60.0 4¢ N = s A 130 18.0 64.0 3NN +2 a7 460 17.0 65.0
6¢ N +1 v2 1390 22.0 60.0 4¢ S = 43 130 18.0 64.0 3NN +2 »2 460 17.0 65.0
6¢ N +1 ¢4 1390 22.0 60.0 3¢ S+1 4Q 130 18.0 64.0 3NN +2 &3 460 17.0 65.0
3N S +4 *J 720 12.0 70.0 INN+1 a4 120 14.0 68.0 3NN +2 3 460 17.0 65.0
3N S +4 49 720 12.0 70.0 24 O-2 &2 100 6.0 76.0 3NN +2 a7 460 17.0 65.0
3N S +4 *] 720 12.0 70.0 24 O-2 *2 100 6.0 76.0 3N N +2 a7 460 17.0 65.0
54 N +2 v2 710 7.0 75.0 24 O-2 v5 100 6.0 76.0 3NN +1 a7 430 8.0 74.0
44 N +3 vT 710 7.0 75.0 24 O-2 +Q 100 6.0 76.0 5¢ S= &A 400 6.0 76.0
5¢ N +2 v2 640 4.0 78.0 24 O-2 v5 100 6.0 76.0 24DV -1 +6 200 3.0 79.0
INS-1 43 -100 1.0 81.0 24 O-2 v5 100 6.0 76.0 34D O - vK 200 3.0 79.0
7% S -1 +5 -100 1.0 81.0 24 O-2 v5 100 6.0 76.0 6¢DS-1 &A -100 0.0 82.0
« K94 « EKKN632 « ED1082
v973 v EK v 98632
+ D1094 +10 ¢ EKn
#Kn52 #DKn92 &6
4ED10 4Kn52 41084 497 493 & Kn64
v EKDKn v108642 vKn64 v875 v 1074 v KKn5
+ E763 + K5 4982 ¢ KDKn7653 ¢+ K2 4109843
*K6 #D83 #E863 &5 #EDKn1085 #93
8763 «D5 « K75
v5 vD10932 vED
¢ Kn82 ¢ E4 + D765
#E10974 #K1074 K742
Kontr ut Res Poang Kontr ut Res Poang Kontr ut Res Poang
6NV -2 *2 200 82.0 0.0 7¢DO-6 4Q 1400 82.0 0.0 64 N = *T 980 810 1.0
6y V-1 v3 100 78.0 4.0 66DO-5 «Q 1100 80.0 20 64 N = &9 980 81.0 1.0
6y V-1 v7 100 780 4.0 6y S = +9 980 740 8.0 3N S +4 LN 520 78.0 4.0
6v V-1 v3 100 780 4.0 64 N = + K 980 740 8.0 44 N +3 +5 510 70.0 12.0
3NV = *4 -600 73.0 9.0 64 N = *K 980 74.0 8.0 44 N +3 *T 510 70.0 12.0
3NV = v9 -600 73.0 9.0 64 N = + K 980 740 8.0 44 N +3 T 510 70.0 12.0
3NV +1 +9 -630 66.0 16.0 64 N = + K 980 74.0 8.0 44 N +3 T 510 70.0 12.0
3NV +1 v2 -630 66.0 16.0 6% N = *K 920 67.0 15.0 44 N +3 *T 510 70.0 12.0
3NV +1 v9 -630 66.0 16.0 64 N = + K 920 67.0 15.0 44 N +3 T 510 70.0 12.0
3NV +1 v7 -630 66.0 16.0 3N S +3 +9 490 63.0 19.0 44 N +3 T 510 70.0 12.0
3NV +1 v7 -630 66.0 16.0 3N S +3 +8 490 63.0 19.0 44 N +2 &9 480 42.0 40.0
4v O +1 +3 -650 31.0 51.0 44 N +2 *+K 480 43.0 39.0 44 N +2 L X} 480 42.0 40.0
4v O +1 48 -650 31.0 51.0 4v S +2 +9 480 43.0 39.0 44 N +2 +9 480 42.0 40.0
4v V +1 +9 -650 31.0 51.0 44 N +2 *+K 480 43.0 39.0 44 N +2 *T 480 42.0 40.0
4v O +1 A -650 31.0 51.0 44 N +2 *+K 480 43.0 39.0 44 N +2 &9 480 42.0 40.0
4v V +1 v3 -650 31.0 51.0 44 N +2 +K 480 43.0 39.0 44 N +2 &9 480 42.0 40.0
4v O +1 *A -650 31.0 51.0 44 N +2 *+K 480 43.0 39.0 44 N +2 &9 480 42.0 40.0
4v V +1 a4 -650 31.0 51.0 44 N +2 *+ K 480 43.0 39.0 44 N +2 &3 480 42.0 40.0
4v V +1 v3 -650 31.0 51.0 44 N +2 &5 480 43.0 39.0 44 N +2 T 480 42.0 40.0
5v O = *A -650 31.0 51.0 54 N +1 +9 480 43.0 39.0 44 N +2 &9 480 42.0 40.0
4v O +1 &A -650 31.0 51.0 4v S +2 *2 480 43.0 39.0 44 N +2 v3 480 42.0 40.0
4v V +1 v3 -650 31.0 51.0 4v S +2 +8 480 43.0 39.0 44 N +2 +9 480 42.0 40.0
4v V +1 v3 -650 31.0 51.0 44 N +2 *+Q 480 43.0 39.0 44 N +2 &9 480 42.0 40.0
4v V +1 v3 -650 31.0 51.0 44 N +2 *+K 480 43.0 39.0 44 N +2 *T 480 42.0 40.0
4v V +1 *4 -650 31.0 51.0 44 N +2 +K 480 43.0 39.0 44 S +2 49 480 42.0 40.0
4v V +1 *T -650 31.0 51.0 5v S+1 *2 480 43.0 39.0 44 N +2 #9 480 42.0 40.0
4v O +1 &7 -650 31.0 51.0 44 N +2 a4 480 43.0 39.0 44 N +2 +9 480 42.0 40.0
4v V +1 &5 -650 31.0 51.0 44 N +2 +K 480 43.0 39.0 44 N +2 T 480 42.0 40.0
4v V +1 +9 -650 31.0 51.0 44 N +2 *+K 480 43.0 39.0 44 N +2 #9 480 42.0 40.0
4v V +1 *4 -650 31.0 51.0 44 N +1 &5 450 19.0 63.0 44 N +2 &9 480 42.0 40.0
4v O +1 a7 -650 31.0 51.0 44 N +1 &4 450 19.0 63.0 44 N +2 &9 480 42.0 40.0
4v O +1 v3 -650 31.0 51.0 44 N +1 &5 450 19.0 63.0 3N S +2 A 460 20.0 62.0
4v V +1 &3 -650 31.0 51.0 44 N +1 &5 450 19.0 63.0 44 N +1 *T 450 10.0 72.0
4v O +1 A -650 31.0 51.0 44 N +1 &5 450 19.0 63.0 44 N +1 &9 450 10.0 72.0
4v V +1 v3 -650 31.0 51.0 54 N= &5 450 19.0 63.0 44 N +1 #9 450 10.0 72.0
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78 77 4v V+1 v3 -650 31.0 51.0|29 43 5& N= + K 400 12.0 70.0(21 53 44 N+1 *9 450 10.0 72.0
79 76 4v V +1 +Q -650 31.0 51.0| 3 69 64 N-1 *5 -50 5.0 77.0(28 46 44 S+1 *3 450 10.0 72.0
8l 74 4v O +1 46 -650 31.0 51.0|13 59 6v S-1 A -50 50 77.0(36 38 44 N+1 T 450 10.0 72.0
82 73 4v V+1 v3 -650 31.0 51.0|50 22 74 N-1 49 -50 5.0 77.0(39 35 44 N+1 T 450 10.0 72.0
83 72 4v O +1 46 -650 31.0 51.0|54 18 64 N-1 3 -50 50 77.0(69 5 44 N+1 *T 450 10.0 72.0
84 36 4v V+1 +9 -650 31.0 51.0|55 17 6v S-1 &A -50 50 77.0(79 78 44 N+1 «9 450 10.0 72.0
11 61 3NV +2 +9 -660 0.0 820(70 2 6#N-1 +Q -50 50 77.0| 6 68 34 N+1 &*A 170 0.0 82.0
74 « EKD853 75 4 E2 76 4« Kn1087
Ost v D54 Syd v Kn1076 Vast v K85
Alla ¢ 104 Ingen + EKn765 NS + K852
»62 #Kn8 *K4
4« Kn76 «10 210643 4K8 #E32 « D96
v 87 v EK92 v- v 984 v 10964 vEKn73
¢ E3 + DKn982 + D832 41094 +DKn7 ¢ E1064
#EKD1053 #984 #ED1096 #K7432 #Kn62 #»ES8
942 « DKn975 « K54
vKn1063 v EKD532 vD2
¢ K765 ¢+ K +93
&Kn7 &5 #D109753
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
82 75 5¢DV-3 s A 800 820 00| 6 70 6v S= a4 980 79.0 30|51 25 INO-2 *4 100 810 1.0
4 70 3NV-2 s A 200 770 50|34 42 6v S= *2 980 79.0 3.0|60 16 4v V-2 ] 100 810 1.0
7 67 3NV-2 s A 200 770 50|73 3 6vS= +3 980 79.0 30| 7 69 INO-1 &T 50 71.0 11.0
43 31 3NV-2 s A 200 770 50|81 78 6v S= a4 980 790 30|22 54 INO-1 »5 50 71.0 11.0
80 77 3NV-2 s A 200 770 50| 7 69 4v S+2 +3 480 56.0 26.0|40 36 INO-1 &T 50 71.0 11.0
6 68 3¢ O-1 a2 100 71.0 11.0| 9 67 4v S+2 +3 480 56.0 26.0|46 30 INO-1 &T 50 71.0 11.0
12 62 3v O-1 a2 100 710 11.0|10 66 4v S+2 46 480 56.0 26.0|53 23 INO-1 &T 50 71.0 11.0
56 18 44 O = s A -130 68.0 14.0(11 65 4v S+2 a4 480 56.0 26.0(62 14 INV-1 3 50 71.0 11.0
8 66 3V +2 & K -150 65.0 17.0(17 59 5v S+1 a4 480 56.0 26.0|72 4 INO-1 &T 50 71.0 11.0
76 81 3&V+2 s A -150 65.0 17.0(21 55 4v S+2 46 480 56.0 26.0|83 76 INO-1 *9 50 71.0 11.0
11 63 3#V+3 s A -170  48.0 34.0(22 54 4v S+2 3 480 56.0 26.0| 6 70 INO= »5 -90 53.0 29.0
14 60 3&V +3 s A -170 48.0 34.0(26 50 4v S+2 2 480 56.0 26.0| 9 67 INO= *7 -90 53.0 29.0
20 54 3# O +3 s A -170  48.0 34.0(37 39 4y S+2 oT 480 56.0 26.0|15 61 INO= »7 -90 53.0 29.0
21 53 4&V+2 s K -170 48.0 34.0(40 36 4v S+2 +3 480 56.0 26.0|29 47 INO= *7 -90 53.0 29.0
25 49 48V +2 s A -170 48.0 34.0(46 30 4v S+2 +3 480 56.0 26.0|31 45 INO= *4 -90 53.0 29.0
28 46 3#V+3 &K -170  48.0 34.0(51 25 4v S+2 46 480 56.0 26.0|35 41 INO= *4 -90 53.0 29.0
30 44 3#V+3 s A -170  48.0 34.0(53 23 4v S+2 46 480 56.0 26.0|44 32 INO= »7 -90 53.0 29.0
36 38 3#V+3 s A -170 48.0 34.0(56 20 4v S+2 a4 480 56.0 26.0|52 24 INO= *9 -90 53.0 29.0
42 32 3%V +3 &K -170  48.0 34.0(57 19 4y S+2 *6 480 56.0 26.0|80 79 INO= *9 -90 53.0 29.0
50 24 4&V+2 s K -170 48.0 34.0(60 16 4v S+2 +3 480 56.0 26.0(81 78 INV= 8 -90 53.0 29.0
55 19 4&V+2 & K -170  48.0 34.0(62 14 4v S+2 +3 480 56.0 26.0(56 20 INS-1 *9 -100 42.0 40.0
57 17 4&V +2 s A -170 48.0 34.0|72 4 4v S+2 *3 480 56.0 26.0|13 63 INO+1 *7 -120  40.0 42.0
59 15 4&V +2 s A -170  48.0 34.0|77 82 4v S+2 46 480 56.0 26.0| 8 68 2v V+1 aT -140 31.0 51.0
61 13 3V +3 & K -170 48.0 340| 1 75 4v S+1 *A 450 30.0 52.0(10 66 2v V +1 &T -140 31.0 51.0
71 3 44 0 +2 s A -170  48.0 34.0(15 61 4v S+1 A 450 30.0 52017 59 3v O= &T -140 31.0 51.0
26 48 24DN-1 #4 -200 32.0 50.0(27 49 4v S+1 49 450 30.0 52.0|21 55 2v O +1 »7 -140 31.0 51.0
69 5 34 N-3 vA -300 30.0 52.0(35 41 4v S+1 *A 450 30.0 52.0|27 49 3v O= +9 -140 31.0 51.0
33 41 5 V= s A -600 26.0 56.0 (43 33 4v S+1 A 450 30.0 52034 42 2y O+1 +9 -140 31.0 51.0
51 23 5 V= s A -600 26.0 56.0|44 32 5v S= &A 450 30.0 52.0|57 19 2v O +1 *6 -140 31.0 51.0
52 22 5& V= s A -600 26.0 56.0|52 24 5v S= *A 450 30.0 52.0|77 82 2v O+1 +9 -140 31.0 51.0
1 73 5&V+1 aA -620 110 710| 2 74 6v S-1 A -50 12.0 700 1 75 INO+2 »7 -150 17.0 65.0
9 65 54V +1 s A -620 110 71.0| 5 71 6v S-1 &A -50 12.0 700 5 71 1INV +2 ] -150 17.0 65.0
10 64 5#V +1 s A -620 11.0 71.0| 8 68 3NS-1 *6 -50 12.0 70.0(12 64 INO +2 *7 -150 17.0 65.0
16 58 5#& V +1 s A -620 110 71.0|12 64 6v S-1 A -50 12.0 70.0(28 48 1INO +2 »5 -150 17.0 65.0
27 47 5&V +1 s A -620 11.0 71.0|13 63 6v S-1 +3 -50 12.0 70.0 (43 33 INO+2 »5 -150 17.0 65.0
34 40 5&V+1 s A -620 11.0 71.0|28 48 6v S-1 *A -50 12.0 70.0 (58 18 1INO +2 *7 -150 17.0 65.0
39 35 5&V+1 +Q -620 11.0 71.0|29 47 6v S-1 A -50 12.0 70.0( 2 74 2v O +2 &T -170 9.0 73.0
45 29 5# O +1 s K -620 11.0 71.0|31 45 6v S-1 &A -50 12.0 70.0 (37 39 2v V+2 »7 -170 9.0 73.0
72 2 5&V+1 s A -620 11.0 71.0|80 79 6v S-1 *A -50 12.0 70.0(26 50 1N O +3 *7 -180 4.0 78.0
79 78 5# O +1 s A -620 110 71.0|83 76 6v S-1 A 50 12.0 70.0(73 3 INO+3 *7 -180 4.0 78.0
83 74 5&V +1 s A -620 11.0 71.0|84 38 6v S-1 &A -50 12.0 70.0 (84 38 INO +3 »5 -180 4.0 78.0
84 37 5&V+1 s A -620 11.0 71.0|58 18 6v S-2 *A -100 0.0 82.0(11 65 2# S-2 +Q -200 0.0 82.0
77 a7 78 +E4 79 « KD953
Nord v 943 Ost v 10952 Syd vD84
Alla ¢ KKn32 Ingen +5 NS ¢ E753
#K10987 #KD9765 *Kn
210953 &K82 4972 ~ K8 210764 & EKn
vKnl05 vEK76 vEDKn8 v64 YEK75 ¢3
+D1085 ¢ 964 +Kn9%6 ¢ EKD8743 + 109 + KD62
*42 #E65 #Kn43  #EI10 #D96 #K108753
« EDKn64 « DKn10653 482
v D82 vK73 vKn10962
¢ E7 ¢ 102 ¢+ Kn84
#DKn3 £82 &E42
Par  Kontr ut Res Poéang Par  Kontr ut Res Poéang Par  Kontr ut Res Poang
45 33 2¢DO-4 47 1100 820 00|53 25 34 S-1 6 -50 82.0 0.0(13 67 54DO-1 46 100 82.0 0.0
18 60 24DV -3 a7 800 790 30| 3 75 44 S-3 *J -150 78.0 4.0|23 57 54 0O-1 a2 50 79.0 3.0
22 56 24DO-3 +¢A 800 79.0 30|14 64 54 S-3 +6 -150 78.0 4.0|58 22 3NO-1 48 50 79.0 3.0
82 79 3NS= vJ] 600 76.0 6.0|54 24 34 S-3 a2 -150 780 40| 4 76 24 0= 8 90 76.0 6.0
3 75 INDO-2 & 500 740 8.0(29 49 3¢ O+3 2 Q -170 720 100| 9 71 34 0= 8 -110 740 8.0
32 46 INO-4 ] 400 72.0 10.0|59 19 4¢ O +2 40 -170 720 100|74 6 3# 0O +1 48 -130 70.0 12.0
13 65 INDO-1 46 200 70.0 12071 7 3¢ O+3 4Q -170 720 100|75 5 340 +1 8 -130 70.0 12.0
10 68 INS+3 aT 180 68.0 14.0|52 26 44DN-2 ¢6 -300 68.0 14.0|84 40 34 O +1 8 -130 70.0 12.0
6 72 2NN +1 vA 150 63.0 19.0|74 4 5¢ O= *8 -400 65.0 17.0| 7 73 3# 0O +2 48 -150 43.0 39.0
12 66 INS+2 oT 150 63.0 19.0|84 39 3NO= »8 -400 65.0 17.0|10 70 44 O +1 8 -150 43.0 39.0
57 21 2NN +1 vK 150 63.0 19.0(12 66 5¢ O+1 »8 -420 60.0 22.0|11 69 3# O +2 8 -150 43.0 39.0
58 20 2NN +1 vA 150 63.0 19.0|44 34 5¢ O+1 4Q -420 60.0 22.0|15 65 3# O +2 48 -150 43.0 39.0
11 67 14 S+2 vJ] 140 58.0 24.0|57 21 5¢ O+1 +Q -420 60.0 22019 61 3&V+2 & K -150 43.0 39.0
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177 3« N+1 vA 130 53.0 29.0| 6 72 3NO+1 4Q -430 53.0 29.0(24 56 3% O +2 48 -150 43.0 39.0
23 55 3# N+1 vK 130 53.0 29.0|11 67 3NO+1 +Q -430 53.0 29.0(28 52 3# O +2 48 -150 43.0 39.0
36 42 3# N+1 vK 130 53.0 29.0|36 42 3NO+1 +Q -430 53.0 29.0(29 51 34 0O +2 48 -150 43.0 39.0
47 31 3 N+1 »6 130 53.0 29.0|58 20 3N O +1 *7 -430 53.0 29.0(30 50 3% O+2 vJ -150 43.0 39.0
84 39 2NN= vK 120 48.0 34.0( 1 77 3NO+2 *8 -460 43.0 39.0(31 49 34 0O +2 48 -150 43.0 39.0
9 69 24 S= *4 110 34.0 480| 2 76 4NO+1 aJ -460 43.0 39.0(33 47 34 O +2 48 -150 43.0 39.0
27 51 24 S= vJ 110 34.0 480| 8 70 3NO +2 8 -460 43.0 39.0(37 43 44 O +1 48 -150 43.0 39.0
29 49 1a S+1 *4 110 34.0 48.0|28 50 3N O +2 4Q -460 43.0 39.0(39 41 34 0O +2 48 -150 43.0 39.0
30 48 24 S= vJ 110 34.0 48.0(61 17 3NV +2 *K -460 43.0 39.0(42 38 34 O +2 48 -150 43.0 39.0
35 43 24 N= vA 110 34.0 48.0(63 15 3NV +2 aA -460 43.0 39.0(45 35 24 O+3 48 -150 43.0 39.0
38 40 24 S= vJ 110 34.0 480| 9 69 3NO+3 +Q -490 20.0 62.0(48 32 44 O +1 48 -150 43.0 39.0
41 37 24 S= vJ 110 34.0 48.0|13 65 3NO+3 +Q -490 20.0 62.0(53 27 3% O +2 48 -150 43.0 39.0
44 34 24 S= vJ 110 34.0 48.0|16 62 3N O +3 8 -490 20.0 62.0(54 26 2% O+3 a2 -150 43.0 39.0
52 26 24 S= 3 110 34.0 48.0|18 60 3N O +3 +Q -490 20.0 62.0|59 21 3#V+2 &K -150 43.0 39.0
53 25 14 S+1 vJ 110 34.0 48.0|22 56 3N O +3 +Q -490 20.0 62.0|60 20 3%V +2 oK -150 43.0 39.0
59 19 1s S+1 vJ 110 34.0 48.0|23 55 3NO+3 aJ -490 20.0 62.0(62 18 3% O +2 48 -150 43.0 39.0
63 15 24 S= *4 110 34.0 48.0|27 51 3NO+3 +Q -490 20.0 62.0(72 8 3#0+2 48 -150 43.0 39.0
78 83 24 S= *4 110 34.0 48.0|30 48 3NO+3 +Q -490 20.0 62.0(79 1 440+1 »2 -150 43.0 39.0
16 62 INO-1 EN 100 19.0 63.0|32 46 3NO+3 4Q -490 20.0 62.0(82 81 44 O+1 438 -150 43.0 39.0
71 7 INO-1 N 100 19.0 63.0|35 43 3NO+3 +Q -490 20.0 62.0|55 25 3#V+3 +Q -170 18.0 64.0
2 76 1a S= v5 80 14.0 68.0|38 40 3NO +3 +Q -490 20.0 62.0(36 44 3v S-2 »6 -200 16.0 66.0
28 50 1 S= vT 80 140 68.0|41 37 3NO+3 aJ -490 20.0 62.0| 3 77 5% 0= 48 -400 11.0 71.0
74 4 14 S= vJ 80 14.0 68.0|45 33 3NO+3 *K -490 20.0 62.0(14 66 5# O = 48 -400 11.0 71.0
54 24 INO= +Q -90 10.0 72.0(47 31 3NO+3 +Q -490 20.0 62.0|17 63 5 O = 46 -400 11.0 71.0
8 70 24 S-1 vJ -100 6.0 76.0(73 5 3NO+3 4Q -490 20.0 62.0|46 34 5# V= «Q -400 11.0 71.0
61 17 2NN-1 v6 -100 6.0 76.0|{78 83 3N O +3 +Q -490 20.0 62.0|12 68 3NO +1 vJ -430 6.0 76.0
81 80 24 S-1 vJ -100 6.0 76.0({82 79 3NO +3 +Q -490 20.0 62.0(64 16 3NV +2 4K -460 3.0 79.0
14 64 34 S-2 vJ -200 2.0 80.0(10 68 6NO= s A -990 1.0 81.0({83 80 3NO+2 48 -460 3.0 79.0
73 5 5¢4RDN-2 vA  -1000 0.0 82.0|81 80 6NO= +Q 990 1.0 81.0| 2 78 4vDS-3 #Q -800 0.0 82.0
80 » K94 81 » 109862 82 « KD1062
Vast v EKKn973 Nord v 65 Ost v D94
ov ¢ K1098 Ingen ¢ Kn9653 NS ¢ Kn7
- »2 #E63
«EKn862 4D1075 4EK54  aKn7 4Kn754 «E9
v 62 v D4 vEK v DKn1087 v EK6 vKn103
¢ Kn64 ¢32 ¢EKD10 ¢ 74 ¢ K943 ¢ E1082
SE87 #K9643 «D63 #K954 %92 #KD104
3 «D3 «83
v 1085 v 9432 v 8752
¢ ED75 +82 ¢ D65
#DKn1052 #EKn1087 #Kn875
Par  Kontr ut Res Poéang Par  Kontr ut Res Poéng Par  Kontr ut Res Poang
55 25 6y N= a7 980 81.0 10|12 70 6NV-5 T 250 82.0 00|10 72 3NO-2 v8 100 79.0 3.0
60 20 6v N= +3 980 81.0 10|20 62 6NV-4 &2 200 76.0 6.0|14 68 3NO-2 48 100 79.0 3.0
3 77 4v N+2 43 480 50.0 32.0(38 44 6NV -4 oT 200 76.0 6.0|16 66 3NDO-1 8 100 79.0 3.0
4 76 4v N+2 +3 480 50.0 32.0(40 42 6NV -4 T 200 76.0 60|75 7 3NO-2 v8 100 79.0 3.0
7 73 4v N+2 +3 480 50.0 32.0(65 17 6NV -4 oT 200 76.0 60| 181 3NO-1 48 50 54.0 28.0
9 71 4v N+2 a7 480 50.0 320(73 9 6NV-4 oT 200 76.0 60| 4 78 3NO-1 48 50 54.0 28.0
10 70 4v N+2 a7 480 50.0 320| 5 77 6NV-3 T 150 67.0 150| 5 77 3NV-1 aK 50 54.0 28.0
12 68 4v N+2 +3 480 50.0 32.0|18 64 6NV -3 oT 150 67.0 150| 8 74 3NO-1 v8 50 54.0 28.0
13 67 4y N+2 a7 480 50.0 32.0|34 48 6NV-3 oT 150 67.0 15015 67 3NO-1 v2 50 54.0 28.0
14 66 4v N+2 a7 480 50.0 32.0 |55 27 6NV-3 9 150 67.0 150|120 62 3NO-1 8 50 54.0 28.0
17 63 4v N+2 46 480 50.0 32.0|14 68 4NV -2 &2 100 60.0 220|124 58 3NO-1 48 50 54.0 28.0
19 61 5v N+1 +3 480 50.0 32.0|32 50 4NV -2 *2 100 60.0 22.0|130 52 3NO-1 *7 50 54.0 28.0
23 57 4y N+2 a7 480 50.0 32.0|84 41 6NV-2 *2 100 60.0 22.0|31 51 3NO-1 v8 50 54.0 28.0
24 56 4v N+2 +3 480 50.0 320| 1 81 3NV-1 oT 50 39.0 43.0|32 50 3NO-1 v5 50 54.0 28.0
28 52 4y N+2 v2 480 50.0 320| 4 78 6v O-1 *A 50 39.0 43038 44 3NO-1 v8 50 54.0 28.0
29 51 4y N+2 +3 480 50.0 320|110 72 3NV-1 T 50 39.0 43.0|40 42 3NO-1 v8 50 54.0 28.0
31 49 4y N+2 a7 480 50.0 32013 69 7v V-1 &2 50 39.0 43.0|47 35 3NO-1 48 50 54.0 28.0
36 44 4y N+2 a7 480 50.0 32.0|25 57 6v O-1 v3 50 39.0 43.0|56 26 3NO-1 v8 50 54.0 28.0
37 43 4y N+2 a7 480 50.0 32.0(29 53 6v V-1 T 50 39.0 43.0|59 23 3NO-1 »5 50 54.0 28.0
42 38 4v N+2 a7 480 50.0 32.0|30 52 4NV-1 +3 50 39.0 43.0|160 22 3NO-1 48 50 54.0 28.0
46 34 4v N+2 a7 480 50.0 32.0|37 45 6NV-1 oT 50 39.0 430|163 19 3NO-1 48 50 54.0 28.0
48 32 4v N +2 a5 480 50.0 32043 39 3NV-1 T 50 39.0 43065 17 3NV-1 aK 50 54.0 28.0
53 27 4y N+2 *7 480 50.0 32.0|46 36 3NV-1 49 50 39.0 43.0|73 9 3NO-1 v7 50 54.0 28.0
59 21 4y N+2 a5 480 50.0 32.0(49 33 3NV-1 oT 50 39.0 430|180 2 3NV-1 4K 50 54.0 28.0
62 18 4v N+2 a7 480 50.0 32.0|54 28 3NV-1 T 50 39.0 43.0|83 82 3NO-1 »7 50 54.0 28.0
64 16 4v N+2 a7 480 50.0 32.0|56 26 6NV-1 &2 50 39.0 43055 27 INO= v7 -90 32.0 50.0
72 8 4v N+2 a7 480 50.0 32.0|59 23 3NV-1 oT 50 39.0 43.0(46 36 2¢ V+1 4K -110 30.0 52.0
74 6 4y N+2 +3 480 50.0 32.0|61 21 6v O-1 *A 50 39.0 43011 71 INO+1 v5 -120 26.0 56.0
82 81 4y N+2 a7 480 50.0 32075 7 6NV-1 oT 50 39.0 43012 70 2NO= v2 -120 26.0 56.0
83 80 4v N+2 3 480 50.0 320|76 6 3NV-1 oT 50 39.0 43025 57 2NO= 48 -120 26.0 56.0
84 40 4v N+2 43 480 50.0 320|800 2 6v O-1 +8 50 39.0 43.0|54 28 INO+2 48 -150 21.0 61.0
2 78 5v N= a7 450 140 68.0|16 66 3NV = oT -400 19.0 63.0{76 6 INO+2 +5 -150 21.0 61.0
11 69 4v N+1 +3 450 140 68.0|83 82 3NV = 2 -400 19.0 63.0(84 41 24 N-3 vT -300 18.0 64.0
30 50 4v N+1 a2 450 140 68.0|15 67 3NO+1 *J -430 16.0 66.0| 3 79 3NO= 8 -400 9.0 73.0
33 47 4v N+1 a7 450 140 68.0| 3 79 4v V+1 *2 -450 12.0 70.0(13 69 3NO= v8 -400 9.0 73.0
54 26 4v N+1 a5 450 140 68.0|24 58 4v V+1 *2 -450 12.0 70.0|18 64 3NV= 4K -400 9.0 73.0
58 22 4v N+1 %3 450 140 68.0|63 19 4y O+1 +8 -450 12.0 70.0(29 53 3NO= &5 -400 9.0 73.0
75 5 4v N+1 %3 450 140 68.0| 8 74 3NV +2 49 -460 8.0 74.0(34 48 3NO= v8 -400 9.0 73.0
15 65 2v N+4 +3 230 50 77.0|31 51 2#DS-4 ©vA -800 6.0 76.0(37 45 3NO= *5 -400 9.0 73.0
39 41 3v N+3 a5 230 50 77.0|11 71 6NV = *2 -990 2.0 80.0(43 39 3NO= a5 -400 9.0 73.0
45 35 6v N-1 v3 -50 2.0 80.0(47 35 6NV= &2 -990 2.0 80.0(61 21 3NO= v8 -400 9.0 73.0
79 1 6vDN-1 3 -100 0.0 82.0|60 22 6NV= &T -990 2.0 80.0(49 33 24DN-3 &K -800 0.0 82.0
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#1084 84 & KKn54 -
v EK Vast v Kn653 v KDKn10
¢+ EKn64 Alla + KD862 ¢ D97432
7643 »- &DKn9
sE 4 KD752 «4D1082 «E 4 Knl10964 & KD53
v D985 v 6432 v D42 v EK7 v 64 v E9875
¢+ KD10 +73 *4 + Kn97 + KKn6 ¢ E5
&#DKnl1085 %92 #Kn9543 #KD10862 872 &E6
4 Kn963 49763 4 E872
v Knl107 v 1098 v32
4 9852 + E1053 + 108
&EK &E7 #K10543
Kontr ut Res Poang Par Kontr ut Res Poang Kontr ut Res Poang
24 O-3 vJ 300 81.0 1.0(84 3NO-5 +5 500 82.0 0.0 3v O-3 T 150 82.0 0.0
3v O-3 »A 300 81.0 1.0(30 3N O -2 vT 200 80.0 20 3¢ N= vA 110 74.0 8.0
2v O-2 &K 200 72.0 10.0 |55 3¢ S+1 &3 130 78.0 4.0 3¢ N= &K 110 740 8.0
3v O0-2 &K 200 720 10.0| 6 3NO-1 vT 100 750 7.0 2¢ N+1 &A 110 74.0 8.0
24 O-2 »A 200 72.0 10.0 (60 3NO-1 vT 100 75.0 7.0 2¢ N+1 vA 110 74.0 8.0
24 O-2 vJ 200 72.0 10.0 (64 24 S-1 &3 -100 72.0 10.0 3¢ N= &A 110 740 8.0
28 V-2 &4 200 720 100 2 4% O +1 *A -150 53.0 29.0 2¢ N+1 vA 110 74.0 8.0
3v O-2 &K 200 72.0 10.0( 4 42 O +1 *A -150 53.0 29.0 3¢ N= *A 110 74.0 8.0
24 O-2 &K 200 720 10.0( 5 38 O +2 vT -150 53.0 29.0 4a V-2 vK 100 64.0 18.0
3¢ N+1 &9 130 64.0 18.0( 9 4% O +1 a7 -150 53.0 29.0 3vyDO-1 T 100 64.0 18.0
2¢ N+1 &9 110 59.0 23.0(11 44 V +1 a3 -150 53.0 29.0 44 O -2 v3 100 64.0 18.0
2¢ N+1 &9 110 59.0 23.0(13 38 O +2 *A -150 53.0 29.0 2¢ N= vA 90 56.0 26.0
2¢ N+1 &9 110 59.0 23.0(17 2% O +3 vT -150 53.0 29.0 2¢ N= vA 90 56.0 26.0
2¢ N+1 &7 110 59.0 23.0(19 3% O +2 SA -150 53.0 29.0 2¢ N= v8 90 56.0 26.0
2NV -1 *4 100 410 41021 44 O +1 v9 -150 53.0 29.0 INN= v7 90 56.0 26.0
28 V-1 vK 100 41.0 41.0|25 38 O +2 vT -150 53.0 29.0 2¢ N= &A 90 56.0 26.0
2NV -1 vA 100 41.0 41.0|39 48V +1 +K -150 53.0 29.0 4e V-1 & 50 48.0 34.0
3v V-1 vA 100 41.0 410|421 384 O +2 *A -150 53.0 29.0 2N O -1 vK 50 48.0 34.0
28 V-1 vK 100 41.0 41.0|48 3% O +2 vT -150 53.0 29.0 3a V-1 vK 50 48.0 34.0
28 V-1 vK 100 41.0 41.0|56 3% O +2 vT -150 53.0 29.0 3& N-1 &Q -100 43.0 39.0
3 V-1 vA 100 41.0 41.0|57 44 O +1 vT -150 53.0 29.0 3¢ N-1 &K -100 43.0 39.0
3vO-1 vJ 100 41.0 41.0|62 3V +2 &A -150 53.0 29.0 2v 0= T -110 31.0 51.0
3NV-1 vA 100 41.0 41.0|76 44 O +1 vT -150 53.0 29.0 2y 0= T -110 31.0 51.0
2% V-1 vA 100 41.0 41.0|77 44 O +1 *A -150 53.0 29.0 2v O= 7 -110 31.0 51.0
2y V-1 &6 100 41.0 41.0|35 34 S-2 *4 -200 34.0 48.0 2v 0= T -110 31.0 51.0
24 V-1 vlJ 100 410 410 1 34DS-2 *4 -500 31.0 51.0 2y 0= T -110 31.0 51.0
2v O-1 &K 100 41.0 41.0|74 5¢DN-2 &K -500 31.0 51.0 2v O= *T -110 31.0 51.0
3vO-1 &A 100 41.0 41.0|12 5& O = vT -600 17.0 65.0 2v 0= T -110 31.0 51.0
28 V= vA -90 22.0 60.0(14 5& O = &7 -600 17.0 65.0 2y 0= T -110 31.0 51.0
INV = *4 -90 22.0 60.0(15 5 O = *A -600 17.0 65.0 2v O= *T -110 31.0 51.0
INV = vK -90 22.0 60.0(16 S5& V= v5 -600 17.0 65.0 1v O +1 T -110 31.0 51.0
INV = +6 -90 22.0 60.0 (26 58 O = v9 -600 17.0 65.0 24 V +1 vK -140 19.0 63.0
INV = *4 -90 22.0 60.0 (32 2% N -6 s A -600 17.0 65.0 34 V= vK -140 19.0 63.0
34DS-1 &Q -100 16.0 66.0|33 5& O = *A -600 17.0 65.0 2NV +1 vK -150 16.0 66.0
2y O= LY:] -110 8.0 74.0|44 5& O = vT -600 17.0 65.0 24 V +2 vK -170 13.0 69.0
2y V= a4 -110 8.0 74.0|47 5& O = *A -600 17.0 65.0 24 V +2 vK -170 13.0 69.0
2y V= a8 -110 8.0 74.0|61 5& O = *A -600 17.0 65.0 4e V = vK -420 7.0 75.0
2y V= a7 -110 8.0 74.0|66 5& O = a5 -600 17.0 65.0 44 O = vK -420 7.0 75.0
2v V= vA -110 80 74081 5 O = *A -600 17.0 65.0 4e V = vK -420 7.0 75.0
2y V= vA -110 8.0 74.0|50 54D O = v9 -750 4.0 78.0 44 O = vK -420 7.0 75.0
2y V= vA -110 8.0 74.0|31 44DO+1 vJ -910 1.0 81.0 34DV = vK -530 2.0 80.0
2NV = vK -120 0.0 82.0|38 44D O +1 49 -910 1.0 81.0 24D O +2 &3 -670 0.0 82.0
«D9 87 « E98 & 752
v K7 Syd v KKn52 v KKn94
+ EK1074 Alla + D8 + K3
&E1098 &E1032 &#KDKn2
4 Knl10653 & E82 4432 & KDKn765 aKKn6 «ED4
v Kn103 v 9542 v93 v7 vD1082 vE75
+ Kn9 + D52 ¢ Kn1052 49763 ¢ Kn5 + 9876
»764 &#KKn2 #8654 K9 #9876 #1053
& K74 410 410983
v ED86 vED10864 v63
+ 863 ¢+ EK4 + ED1042
D53 &DKn7 &E4
Kontr Ut Res Poang Par Kontr Ut Res Poang Kontr Ut Res Poang
3N S +2 a5 460 73.0 90| 3 6y S= 3 1430 51.0 31.0 2¢DN+4  vA 580 82.0 0.0
3N N +2 a2 460 73.0 90| 4 6y S= a2 1430 51.0 31.0 3NN = &2 400 770 5.0
3N S +2 a5 460 73.0 9.0| 6 6y S= &6 1430 51.0 31.0 3NN = +9 400 770 5.0
3N S +2 a5 460 73.0 90| 7 6y S= 42 1430 51.0 31.0 3NN = &2 400 77.0 5.0
3N N +2 a2 460 73.0 90| 8 6y S= &5 1430 51.0 31.0 3NN = +9 400 770 5.0
3N N +2 v3 460 73.0 9.0(11 6y S= 5 1430 51.0 31.0 2N N +3 +9 210 72.0 10.0
3N N +2 v2 460 73.0 9.0(13 6y S= v3 1430 51.0 31.0 2N N +2 &3 180 61.0 21.0
3N S +2 a5 460 73.0 9.0|15 6y S= &6 1430 51.0 31.0 IN N +3 +9 180 61.0 21.0
3N N +2 v4 460 73.0 9.0(16 6y S= v6 1430 51.0 31.0 IN N +3 +8 180 61.0 21.0
3N S +2 a5 460 73.0 9.0(19 6y S= 42 1430 51.0 31.0 IN N +3 +9 180 61.0 21.0
3N S +1 a] 430 48.0 34.0|21 6y S= &5 1430 51.0 31.0 IN N +3 &2 180 61.0 21.0
3NN +1 v4 430 48.0 34.0|23 6y S= +J 1430 51.0 31.0 IN N +3 +9 180 61.0 21.0
3N S +1 a3 430 48.0 34.0|27 6y S= +J 1430 51.0 31.0 2N N +2 +9 180 61.0 21.0
3N S +1 46 430 48.0 34.0|28 6y S= v5 1430 51.0 31.0 IN N +3 v5 180 61.0 21.0
3NN +1 v7 430 48.0 34.0|32 6y S= 42 1430 51.0 31.0 INS +3 &K 180 61.0 21.0
3N S +1 a] 430 48.0 34.0|33 6y S= a4 1430 51.0 31.0 IN N +3 +9 180 61.0 21.0
3NN +1 v5 430 48.0 34.0|34 6y S= &5 1430 51.0 31.0 IN N +2 &5 150 33.0 49.0
3N S +1 a3 430 48.0 34.0|37 6y S= 42 1430 51.0 31.0 IN S +2 +9 150 33.0 49.0
3NN +1 v2 430 48.0 34.0|40 6y S= 42 1430 51.0 31.0 IN N +2 +9 150 33.0 49.0
3N S +1 a] 430 48.0 34.0|43 6y N= &2 1430 51.0 31.0 IN N +2 +9 150 33.0 49.0
3N S +1 a] 430 48.0 34.0 |46 6y N = 4K 1430 51.0 31.0 IN N +2 +9 150 33.0 49.0
3N S +1 a5 430 48.0 34.0 |49 6y S= +J 1430 51.0 31.0 2N N +1 +8 150 33.0 49.0
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56 30 3NN +1 va 430 48.0 34.0|50 38 6v N= 4K 1430 51.0 31.0(17 71 INS+2 *9 150 33.0 49.0
62 24 3NS+1 ] 430 48.0 34.0|52 36 6v S= a4 1430 51.0 31.0(18 70 INN+2 +9 150 33.0 49.0
65 21 3NS+1 46 430 48.0 34.0|57 31 6v S= 42 1430 51.0 31.0|27 61 INN+2 +9 150 33.0 49.0
7 79 3NN= v5 400 25.0 57.0|63 25 6v S= 43 1430 51.0 31.0(32 56 INS+2 *9 150 33.0 49.0
12 74 3NS= a5 400 25.0 57.0|64 24 6v S= 42 1430 51.0 31.0(37 51 INN+2 +9 150 33.0 49.0
13 73 3NS= aT 400 25.0 57.0|66 22 6v S= v9 1430 51.0 31.0(49 39 2NN +1 +9 150 33.0 49.0
32 54 3NS= a5 400 25.0 57.0|68 20 6v S= v9 1430 51.0 31.0|(50 38 INN+2 +9 150 33.0 49.0
36 50 3NS= a5 400 25,0 57.0|76 12 6v S= 43 1430 51.0 31.0(63 25 INN+2 +9 150 33.0 49.0
39 47 3NS= 43 400 250 57.0|83 5 6vS= +J 1430 51.0 31.0|64 24 2NN +1 +9 150 33.0 49.0
63 23 3NN= v7 400 25.0 57.0|84 44 6v S= 43 1430 51.0 31.0(68 20 INN +2 +9 150 33.0 49.0
67 19 3NS= a5 400 25.0 57.0|35 53 3NN +3 3 690 18.0 64.0(76 12 INN+2 +9 150 33.0 49.0
49 37 2N S +2 4] 180 16.0 66.0 (14 74 4v S+2 a4 680 13.0 69.0(79 9 INN+2 +9 150 33.0 49.0
20 66 2¢ N+2 aA 130 14.0 68.0 (17 71 4v S+2 *5 680 13.0 69.0(58 30 34 S= 9 140 14.0 68.0
17 69 3NN-1 v5 -50 6.0 76.0 (41 47 4v S+2 *J 680 13.0 69.0 (11 77 INN+1 +9 120 8.0 74.0
31 55 3NN-1 v7 -50 6.0 76.0(62 26 4v S+2 v3 680 13.0 69.0 (21 67 2NN= +9 120 8.0 74.0
40 46 3NS-1 a5 50 6.0 76.0(79 9 3NN+2 a K 660 8.0 74.0(35 53 INN+1 6 120 8.0 74.0
61 25 3NS-1 43 -50 6.0 76.0(18 70 7v S-1 a2 -100 3.0 79.0|46 42 INN+1 +9 120 8.0 74.0
75 11 3NN-1 v3 -50 6.0 76.0(58 30 7v N-1 a K -100 3.0 79.0(62 26 INN+1 2 120 8.0 74.0
77 9 3NN-1 v5 -50 6.0 76.0(59 29 6NS-1 a2 -100 3.0 79.0|83 5 3¢ N= +9 110 2.0 80.0
78 8 3NS-1 &) -50 6.0 76.0(78 10 7v S-1 a2 -100 3.0 79.0|{15 73 3NN-1 +8 -50 0.0 82.0
89 45 90 +10 91 « EKn53
Nord vD3 Ost v Kn10762 Syd vD8
ov ¢ Kn86432 Alla ¢ Kn105 Ingen + K74
#K1095 &D1076 #8642
4 Kn863 4 EK97 4KD86 4 EKn54 4KD92 484
vKn95 vEK42 vE9543 v8 va v EKKn7653
¢EK97 ¢D + D7 + EK8 ¢ ED103 ¢ Kn
#ED #6432 #Kn2 #EK985 #KD97 #1053
4 D1042 49732 41076
v 10876 vKD v 1092
¢ 105 496432 498652
#Kn87 »43 #EKn
Par  Kontr ut Res Poéang Par  Kontr ut Res Poéng Par  Kontr ut Res Poang
60 30 74 V-4 .7 400 82.0 00|58 32 74 O-3 vK 300 82.0 0.0(45 47 6NO-2 aA 100 82.0 0.0
63 27 64 V-3 ¢4 300 80.0 20| 8 82 74 0-2 vQ 200 77.0 5.0(38 54 2v O+3 +9 -200 80.0 2.0
16 74 64 V-2 +3 200 73.0 9.0|22 68 64 O-2 vK 200 770 50 5 4 4v 0= 2 -420 72.0 10.0
17 73 64 V-2 vQ 200 73.0 9.0(64 26 74 V-2 *J 200 770 50| 6 3 4vO= *A -420 72.0 10.0
18 72 64 V-2 +8 200 73.0 9.0(79 11 64 O-2 a2 200 770 50(16 76 4v O= 46 -420 72.0 10.0
20 70 64 V-2 *4 200 73.0 9.0(14 76 74 O-1 vK 100 67.0 15.0(19 73 4v O= LY -420 72.0 10.0
38 52 64 V-2 +6 200 73.0 90|19 71 64 O-1 vQ 100 67.0 15.0(51 41 4v O= &A -420 72.0 10.0
77 13 54 V-2 ¢4 200 73.0 9.0(20 70 74 V-1 *J 100 67.0 15.0(70 22 4v O= *A -420 72.0 10.0
4 3 4e V-1 +3 100 57.0 25.0(29 61 74 V-1 +J 100 67.0 15.0|80 12 4y O= 46 -420 72.0 10.0
15 75 44 V-1 *4 100 57.0 25.0 (47 43 6NO-1 vK 100 67.0 15.0(66 26 3NV +1 a5 -430 63.0 19.0
29 61 44 V-1 +3 100 57.0 25.0(67 23 64 O-1 vK 100 67.0 15.0(84 46 4NV = LY -430 63.0 19.0
36 54 44 V-1 +3 100 57.0 250 1 6 44 O= vK -620 58.0 240| 2 7 4v O+1 LY -450 34.0 48.0
41 49 64 V-1 *4 100 57.0 25.0|12 78 44 O= 43 -620 58.0 24.0| 9 83 4v V+1 *6 -450 34.0 48.0
42 48 44 V-1 a5 100 57.0 25.0(15 75 44 V= *J -620 58.0 24.0|10 82 4v O +1 +9 -450 34.0 48.0
50 40 64 V-1 *5 100 57.0 25.0(35 55 3NO +1 43 -630 54.0 28.0|13 79 4v O +1 +9 -450 34.0 48.0
51 39 3NV-1 vQ 100 57.0 25.0|41 49 44 O+1 +3 -650 51.0 31.0|15 77 4v O+1 &A -450 34.0 48.0
58 32 44 V-1 +8 100 57.0 25.0(42 48 44 V +1 aT -650 51.0 31.0|17 75 4v O+1 *A -450 34.0 48.0
80 10 44 V-1 +6 100 57.0 25.0|16 74 44 O +2 *6 -680 46.0 36.0(18 74 4y O+1 46 -450 34.0 48.0
24 66 34 V+1 +3 -170 46.0 36.0 (53 37 54 V+1 *J -680 46.0 36.0|20 72 4y O +1 *A -450 34.0 48.0
47 43 3NV = *9 -600 42.0 40.0|59 31 44 O +2 2 -680 46.0 36.0|23 69 4v O +1 +8 -450 34.0 48.0
53 37 3NO= a2 -600 42.0 40.0|63 27 44 O+3 LY -710 42.0 40.0(25 67 4y O+1 *A -450 34.0 48.0
64 26 3NV= *4 -600 42.0 40.0|69 21 3NO+4 *4 -720 40.0 42.0(29 63 4y O +1 vT -450 34.0 48.0
9 81 44 V= ¢4 -620 36.0 46.0| 7 83 64 O= *J -1430 24.0 58.0 (30 62 4v O +1 *A -450 34.0 48.0
14 76 4e V= a5 -620 36.0 46.0| 9 81 64 V= +J -1430 24.0 58.0 (34 58 4v O +1 vT -450 34.0 48.0
59 31 44 V= +3 -620 36.0 46.0|17 73 64 O= vK -1430 24.0 58.0 (35 57 4v O +1 &A -450 34.0 48.0
5 2 3NV+1 v3 -630 22.0 60.0|18 72 64 V= *7 -1430 24.0 58.0 (37 55 4v O +1 *A -450 34.0 48.0
7 83 3NV +1 +4 -630 22.0 60.0|24 66 64 V= aT -1430 24.0 58.0 (39 53 4v O +1 *A -450 34.0 48.0
8 82 3NO+1 a4 -630 22.0 60.0|28 62 64 V= *J -1430 24.0 58.0 (42 50 4v O +1 vT -450 34.0 48.0
12 78 3NV +1 ¢4 -630 22.0 60.0|33 57 64 V= *J -1430 24.0 58.0 (43 49 4v O+1 aT -450 34.0 48.0
19 71 3NV +1 *4 -630 22.0 60.0|34 56 64 V= +J -1430 24.0 58.0 |48 44 4v V+1 *4 -450 34.0 48.0
22 68 3NV +1 2 -630 22.0 60.0(38 52 64 O= vK -1430 24.0 58.0 (52 40 4v O +1 &A -450 34.0 48.0
33 57 3NV +1 ¢4 -630 22.0 60.0|50 40 64 O= 6 -1430 24.0 58.0 (59 33 4v O +1 *A -450 34.0 48.0
34 56 3NO +1 a5 -630 22.0 60.0(51 39 64 O= vK -1430 24.0 58.0 (60 32 4v O +1 +9 -450 34.0 48.0
35 55 3NV +1 +6 -630 22.0 60.0 (60 30 64 O= vK -1430 24.0 58.0 (61 31 4v O +1 &A -450 34.0 48.0
69 21 3NV +1 +3 -630 22.0 60.0|65 25 64 O= vK -1430 24.0 58.0 (64 28 4v O +1 *A -450 34.0 48.0
79 11 3NV +1 +5 -630 22.0 60.0|77 13 64 V= +J -1430 24.0 58.0 (65 27 4v O +1 LY -450 34.0 48.0
28 62 44 V+1 vQ -650 7.0 75.0(80 10 64 O= vK -1430 24.0 58.0 (68 24 4v O +1 &A -450 34.0 48.0
44 46 44 V +1 *9 650 7.0 75.0| 5 2 64 O+1 vK -1460 6.0 76.0(81 11 4v O+1 *A -450 34.0 48.0
65 25 44 V+1 +3 -650 7.0 75.0|36 54 64 O +1 vK -1460 6.0 76.0(21 71 3NV +2 *6 -460 5.0 77.0
67 23 44 V+1 «9 -650 7.0 75.0(84 45 6a V +1 *J -1460 6.0 76.0(78 14 3NV +2 *4 -460 5.0 77.0
84 45 3NV +2 +3 -660 2.0 80.0| 4 3 74V= 4] -2210 10 81.0| 8 1 4v O+2 *A -480 1.0 81.0
1 6 5¢DN-6 &A -1400 0.0 82.0(44 46 74 V= aT -2210 1.0 81.0|36 56 4v O +2 *A -480 1.0 81.0
92 4962 93 47432 94 « D84
Vast v4 Nord v 543 Ost vD7
NS + D8764 Alla + K82 Ingen + 8642
#Kn654 £986 &#EKn84
4 K1085 «ED743 4 EKNn6 4D85 475 « E632
v 652 v EKDKn97 vDKn7 1098 vKKn4 vE105
¢ 103 *- ¢+ 10765 ¢ED 4 Kn973 ¢ EKD10
#EK108 #D3 #1032 &EKDKn4 #K932 #D6
& Kn « K109 & KKn109
v 1083 v EK62 v 98632
¢ EKKn952 ¢ Kn943 +5
#972 &75 #1075
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
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4v +8 -510 76.0 6.0 3NV-1 *9 100 82.0 0.0 6¢ O-3 150 82.0 0.0
4y C +5 -510 76.0 6.0 3& O +1 vA -130 78.0 4.0 3NV -2 100 80.0 2.0
4v *A -510 76.0 6.0 28 O +2 vA -130 78.0 4.0 3NV-1 50 76.0 6.0
44 + K -510 76.0 6.0 34 O +1 *9 -130 78.0 4.0 3NV-1 50 76.0 6.0
4v v3 -510 76.0 6.0 3NO = vA -600 68.0 14.0 3NO-1 50 76.0 6.0
4v *A -510 76.0 6.0 3NO= v4 -600 68.0 14.0 3¢ O= -110 72.0 10.0
4v *A -510 76.0 6.0 3NV = a7 -600 68.0 14.0 3NV = -400 42.0 40.0
5¢DS-3 +3 -800 68.0 14.0 3NV = a2 -600 68.0 14.0 3NV = -400 42.0 40.0
64 v4 -1010 48.0 34.0 3NO = +3 -600 68.0 14.0 3NO = -400 42.0 40.0
64 *4 -1010 48.0 34.0 3NO= v2 -600 68.0 14.0 3NO= -400 42.0 40.0
64 +6 -1010 48.0 34.0 3NV = 43 -600 68.0 14.0 3NV = -400 42.0 40.0
6v *A -1010 48.0 34.0 3N O +1 v2 -630 37.0 45.0 3NV = -400 42.0 40.0
64 *A -1010 48.0 34.0 3NV +1 3 -630 37.0 45.0 3NV = -400 42.0 40.0
64 *A -1010 48.0 34.0 3NV +1 v5 -630 37.0 45.0 3NV = -400 42.0 40.0
64 *A -1010 48.0 34.0 3N O +1 v2 -630 37.0 45.0 3NV = -400 42.0 40.0
64 V v4 -1010 48.0 34.0 3NV +1 v4 -630 37.0 45.0 3NV = -400 42.0 40.0
64 + K -1010 48.0 34.0 3NV +1 2 -630 37.0 45.0 3NO = -400 42.0 40.0
6v +6 -1010 48.0 34.0 3N O +1 vK -630 37.0 45.0 3NO = -400 42.0 40.0
6v + K -1010 48.0 34.0 3NV +1 v3 -630 37.0 45.0 3NO= -400 42.0 40.0
64 *A -1010 48.0 34.0 3N O +1 v2 -630 37.0 45.0 3NV = -400 42.0 40.0
6v *A -1010 48.0 34.0 3NV +1 43 -630 37.0 45.0 3NO = -400 42.0 40.0
64 *A -1010 48.0 34.0 3N O +1 vA -630 37.0 45.0 3NO= -400 42.0 40.0
64 O +1 A -1010 48.0 34.0 3N O +1 +8 -630 37.0 45.0 3NV = -400 42.0 40.0
6v O +1 *A -1010 48.0 34.0 3NV +1 a7 -630 37.0 45.0 3NV = -400 42.0 40.0
6v O +1 *A -1010 48.0 34.0 3NV +1 v4 -630 37.0 45.0 3NO = -400 42.0 40.0
6y O +1 ] -1010 48.0 34.0 3NV +1 43 -630 37.0 45.0 3NO = -400 42.0 40.0
6v O +1 *A -1010 48.0 34.0 3NV +1 a2 -630 37.0 45.0 3NV = -400 42.0 40.0
74 V= *4 -1510 16.0 66.0 3N O +1 vK -630 37.0 45.0 3NO = -400 42.0 40.0
7v O = *A -1510 16.0 66.0 3NV +1 a7 -630 37.0 45.0 3NO = -400 42.0 40.0
74 V= *4 -1510 16.0 66.0 3N O +1 vA -630 37.0 45.0 3NV = -400 42.0 40.0
74 V= v4 -1510 16.0 66.0 3N O +1 vA -630 37.0 45.0 3NV = -400 42.0 40.0
74 O= + K -1510 16.0 66.0 3N O +1 v6 -630 37.0 45.0 3NO = -400 42.0 40.0
74 V= v4 -1510 16.0 66.0 3NV +1 v3 -630 37.0 45.0 3NV = -400 42.0 40.0
74 V= a2 -1510 16.0 66.0 3NV +1 *9 -630 37.0 45.0 3NV = -400 42.0 40.0
74 O= v4 -1510 16.0 66.0 3NV +1 v3 -630 37.0 45.0 3NV = -400 42.0 40.0
Te V= *4 -1510 16.0 66.0 3N O +2 43 -660 8.0 74.0 3NV +1 -430 7.0 75.0
74 O= + K -1510 16.0 66.0 3N O +2 v2 -660 8.0 74.0 3NV +1 -430 7.0 75.0
7v O= *A -1510 16.0 66.0 3NV +2 *6 -660 8.0 74.0 3N O +1 -430 7.0 75.0
Te V= v4 -1510 16.0 66.0 3NV +2 a4 -660 8.0 74.0 3N O +1 -430 7.0 75.0
7v O= *A -1510 16.0 66.0 3NV +2 a7 -660 8.0 74.0 3N O +1 -430 7.0 75.0
74D O = *A -1770 2.0 80.0 3N O +3 +3 -690 1.0 81.0 3N O +1 -430 7.0 75.0
vA -2300 0.0 82.0 3N O +3 *4 -690 1.0 81.0 3NDV = -550 0.0 82.0

« D643 « KKn10

v Kn4 v84

+ EK875 ¢+ D752

#Kn6 £7654

4 KKn109 &E7 494 4 E75
vD10952 v863 v EK10932 vD6
+ Kn104 ¢ Kn106 +93
#E10873 &ED #KKn10982

4 852 « D8632

v EK7 vKn75

+ D963 + EK84

£K94 &3
Kontr ut Res Poang Kontr ut Res Poang
3ND S = v5 750 82.0 0.0 34 S= vK 140 82.0 0.0
3NS = vT 600 75.0 7.0 3¢ N-1 vQ -50 80.0 2.0
3NS v5 600 750 7.0 2v V+1 *2 -140 78.0 4.0
3NS= v5 600 75.0 7.0 34 O +2 A -150 76.0 6.0
3NS aT 600 75.0 7.0 3% O +3 *A -170 74.0 8.0
3NS 49 600 750 7.0 3% 0O +4 + K -190 72.0 10.0
3NS vT 600 75.0 7.0 2v V+5 oK -260 64.0 18.0
44D vA 300 67.0 15.0 2v V+5 oK -260 64.0 18.0
4vD *A 300 67.0 15.0 3v V+4 v8 -260 64.0 18.0
4v V-3 *A 150 60.0 22.0 2v V+5 &4 -260 64.0 18.0
4v V - &4 150 60.0 22.0 3vV+4 v4 -260 64.0 18.0
IN S +2 vT 150 60.0 22.0 2v V +5 &7 -260 64.0 18.0
2N S +1 v5 150 60.0 22.0 3v V+4 &K -260 64.0 18.0
2N S +1 v5 150 60.0 22.0 3NO= *A -600 56.0 26.0
3¢ *2 130 51.0 31.0 4v V +1 +5 -650 42.0 40.0
2¢ v9 130 51.0 31.0 4v O +1 +5 -650 42.0 40.0
3¢ &2 130 51.0 31.0 4v V +1 *2 -650 42.0 40.0
3¢ v2 130 51.0 31.0 4v V +1 +5 -650 42.0 40.0
2N S = v2 120 45.0 37.0 4v V +1 .7 -650 42.0 40.0
INS+ v3 120 45.0 37.0 4v V +1 +5 -650 42.0 40.0
3¢ S= vT 110 38.0 44.0 4v V +1 +5 -650 42.0 40.0
2¢ S+1 *2 110 38.0 44.0 4v V +1 *2 -650 42.0 40.0
1le S+2 v5 110 38.0 44.0 4v V +1 +5 -650 42.0 40.0
3¢ S= v9 110 38.0 44.0 4v V +1 6 -650 42.0 40.0
3¢ S= v9 110 38.0 44.0 4v V +1 *2 -650 42.0 40.0
3v V-2 *A 100 31.0 51.0 4v V +1 *6 -650 42.0 40.0
3v V-2 *A 100 31.0 51.0 4v V +1 +5 -650 42.0 40.0
3vVv-1 *A 50 26.0 56.0 4v V +2 *2 -680 27.0 55.0
3v V-1 *A 50 26.0 56.0 4v V +2 +5 -680 27.0 55.0
3v V-1 *A 50 26.0 56.0 4v V +3 v8 -710 12.0 70.0
Pass 22.0 60.0 4v V +3 &K -710 12.0 70.0
3NS-1 v2 -100 17.0 65.0 4v V +3 aJ -710 12.0 70.0
3N N-1 v3 -100 17.0 65.0 4v V +3 aT -710 12.0 70.0
4¢ S-1 *2 -100 17.0 65.0 4v V +3 oK -710 12.0 70.0
4¢ S-1 &2 -100 17.0 65.0 4v V +3 & K -710 12.0 70.0
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54 42 4¢DS-1 v5 -200 11.0 71.0(27 69 4v V+3 »8 -710 12.0 70.0
68 28 24 N-2 v6 -200 11.0 71.0(36 60 4v V+3 s K -710 12.0 70.0
27 69 44 N-4 v6 -400 7.0 75.0(39 57 4v V+3 v8 -710 12.0 70.0
72 24 24 N-4 v3 -400 7.0 75.0 (44 52 4v V +3 v2 -710 12.0 70.0
31 65 3vDV= *A -530 3.0 79.0(45 51 4v O+3 &K -710 12.0 70.0
37 59 3vDV= LN, -530 3.0 79.0 (63 33 4v V+3 oK -710 12.0 70.0
10 3 34 N-6 v3 -600 0.0 82.0(70 26 5v V +2 & K -710 12.0 70.0
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